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OUTLINE

»SERVICE PRIMITIVES

»>THE RELATIONSHIP OF SERVICE

»THE OSI REFERENCE MODEL

»>THE TCP/IP REFERENCE MODEL



SERVICE PRIMITIVES

A service is formally specified by a set of primitives (basic operations) available to a user or other entity to access the

service

Primitive Meaning
LISTEN Block waiting for an incoming connection
CONNECT Establish a connection with a waiting peer
RECEIVE Block waiting for an incoming message
SEND Send a message to the peer
DISCONNECT Terminate a connection

Example: five service primitives for implementing a simple connection-oriented service



THE RELATIONSHIP OF SERVICE
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THE OSI REFERENCE MODEL
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THE TCP/IP REFERENCE MODEL
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THE TCP/IP REFERENCE MODEL

Protocols <

Networks <

N

TELNET

FTP

SMTP

DNS

TCP

UDP

ARPANET

SATNET

Packet
radio

LAN

Layer (OSI names)

Application

Transport

Network

Physical +
data link



THE TCP/IP REFERENCE MODEL(INTERNET)
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Multiple Choice Question

MUTIPLE CHOICE QUESTIONS:

Sr no Question Option A Option B OptionC OptionD
A high-speed S,A;;r:jedlum- A low-speed hf\rrlm l;|'[(l;2;j
Which of this is not a constituent of residential telephone line? downstream P downstream gh sp
downstream downstrea
channel channel
1 channel m channel
Home Access is provided by DSL FTTP Cable Al 9f the
5 mentioned
open system operating optical service | 2PS"
OSlI stands for _Open systen system op . service
interconnection . implementation
3 interface Internet
The number of layers in ISO OSI reference model is 4 5 6 7
4
TCP/IP model does not have layer but OSI model have this . application network
session layer transport layer
layer. layer layer
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